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. Abbinash and Thurkka were separated by a river that is 540 m wide. Suddenly, they
spotted a bridge connecting one side of the river to the other. Because of their burning
desire to be together, they darted across the bridge toward each other. After an agonizing
sprint that lasted exactly sixty seconds, they finally embraced each other at a certain point

on the bridge. Assuming that they started sprinting at exactly the same time and that
w how fast was each of them running?

Prediction (1 APP)
Will they meet closer to Abbinash’s side of the river or Thurkka’s side of the river? Why?
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Write the equation relating the unknowns in words. /
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Equation in Algebraic Form (2 APP)

Write the equation relatjng the unknowns in algebraic form.

6ov+ 60(v+3) =540

Solve the Equation and State a Conclusion (4 APP)
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O Q0v+ 80 = 540
¢, 130w+ 130180 = 540 ~ 180
S 10v =360
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